EARAROBREBRT —5 XN—ZXBISH—F 20224E1286H (X) 19EIER2H

Els=sscnlBEarLzs |8 B Y5%K B
[xE&] 15:420,000H  23&:134,000H  3#&:67,000H  43%&:50,000MH  5i3&:42,000H
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N . BEHELE : -3-3- - )|z (&R)
11707 | oy — B4 Be 1.(3_5).5 5-3-3-2 | 37.7 1 AIZ? e
RPIPITATVR B:FvyhARU—K LENEKE
LHEE : -5-4- - HiEi—th (&R
) 4| TARTAW i o6 i 1.(326;.2 4-5-4-4 | 38.0 7 (5_117) il
RRIU—vEe—O— B:TU—YFPAR2 INIT7—Ls
< o MPEth :36. -1-1- . - FHiE—tE (&R
3 3| UYIRIIVER "4 B 1(93?:)3 38 ! ?_()12) INIEF
R:RwIA—FIYIT F:HARAITUT b e ]
N +10 | BLWRF 1:36.3 10-9-8-6 |37.6| — 6 464 | JIRBASL (R)
4|5|5|AYAE 56.0 @) (+4) RESF
RFIRATFIIN B:HYF—RITU—2 BEX X=E
5 s 3 | BWIER 1:36.4 2-2-2-3 |38.7| - 2 | 38 |EEER &R
5/g/9|A—ILboYav 5.0 “e) 3 |hovavEE @
RiALYITSvIEI B:TIAARDYID milll BEER
SN . SHRE : —7-8- = Fx (&R
6 2 AT 8 7 54_0% 1.(326;.8 8-7-8-8 | 38.1 9 (4;120) %Eg( )
RiIALNSRYIR B:HAURI TS VT BHE
JEIZATT : -8-6- - NEERNE (R
718l10 PAATTU—F1 w4 B S AR ST v
RiIRwSXYF §:E217—TU—L #BT7—L
i = £y 4 | MWHEE 1:37.9 9-10-10-10 | 38.9 | — 8 1463 | EiERZ (&R
EH 6| T1 K52 5.0 3 o |HEEEST
R:O0—RAHFO7 B:ZVITFP7IIN TATAT7—1A
~, = < SEREA : -6-6- - MR (&R
97| g | HYF—FUTER 5 R% e AR R IARE- Sy
R:FRXF BY—RNVSS7 ERRIS
=2 — 8 4 | BHBAR 1:38.4 3-3-4-5 |40.5| — 10 | 443 |PHz &R
10011 | TA¥Y=R7TY 54.0 @ 172) vg |THEE
RiIAVVFEaATs B IAYVIPZS SERIS
@ 11— —BERIEI
13—7F— 3,9.1,4,7,8,10,2,6,5
20—F— 3,9,(1,7),4,8,2,10,5,6
30—3— 3,9,7,(1,4),(8,10), (2,5) .6
40—7F— 3,7,9.4,1,(5,8),2,10,6
0 ILRE
BB 7 290M4 JA R 4-7 1,150/ AR 4-7 2,500H 3ER 3-4-7 7,560
B B 7 1504 3-7 5904 B 7-4 6,780M 3Es 7-4-3 45,340H
4 570 3-4 2,080 5 & 4-7 3,580
3 210 Ba 7-4 7,720H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



